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South American Wild Cats Find Hope in a Test Tube

Since time immemorial felines have been venerated in America, North and South. Their shapes appear engraved on ancient artifacts and
in the form of modem statues. But in the last century, jaguars, pumas and other American felines have declined alarmingly in number. So
much so, that they may become extinct. As a result, researchers in Spain and Argentina have embarked on a project for the preservation
of ten feline species in Latin America. For the next three years, they will be working on the creation of two genetic banks one in Madrid
and the other in Buenos Aires, to keep away the threat that looms over these animals.

This threat comes from human activity. Since 1920, the population of Latin America has tripled to 480 million people. A quarter of the
forest area has disappeared, and activities such as hunting, fishing, mining and farming intensify human impact on the environment, so
that the natural habitat of these species has been hugely reduced. The reduction of the habitat reduces the population.

So far, the problem has been addressed by introducing new animals into each region, with problems of transport and adaptation leading
to poor chances of success. Now, the plan is to apply assisted reproduction techniques, fertilizing females with semen from males from
other regions, including various zoos in Argentina and Spain. Scientists hope that, a few decades into the future, the words jaguar or
puma may be more than mere names and memories.

Complete the following sentences. Use the appropriate form of the words in brackets when given.

a) If we want wild cats to reproduce, we should protect their environment.

Ayuda: esta es una oración condicional de primer tipo ya que el verbo de la oración subordinada que expresa la condición ("If we want wild
cats to reproduce ",) está en presente. El verbo "want" pertenece al grupo de verbos (junto a "tell, advise, warn, ask",..) que cuando van
seguidos por otro verbo, éste debe estar en infinitivo ("to reproduce").

En las oraciones condicionales de primer tipo, la oración que expresa el resultado ("we should protect the environment") puede llevar un
verbo modal. En este caso "should" es el más apropiado ya que indica lo que se "debería" hacer. (opinión / consejo).

b) We had better stop using the world´s natural resources carelessly. (careless)

Ayuda: "had better" es una expresión adverbial hecha (significa "será mejor que... "), que siempre va seguida de un verbo en infinitivo. Al
final de la frase debe ir un adverbio que modifique al verbo de la oración "using". En inglés, la mayoría de los adverbios de modo se forman
añadiendo el sufijo "-ly" al adjetivo ("careless").

c) The populations of many animal species are too small for them to survive: soon, they will become extinct.

Ayuda: Entre el verbo "are" y el adjetivo "small" la única opción posible es un adverbio que lo modifique. "Too" es un adverbio de intensidad
que significa demasiado. "For" actúa como una conjunción subordinada que introduce una oración de infinitivo (to survive). La estructura
adjetivo + for + objeto + infinitivo es común.

Complete the following sentence to report what a journalist asked researchers about the project.

d) When did you begin your new wild cat project? -
The journalist asked researchers when they had begun their new wild cat project.

Ayuda: Al convertir una pregunta en estilo indirecto, esta se convierte en una oración afirmativa y por lo tanto ya no hay inversión del sujeto
y el verbo, es decir, el orden de las palabras se mantiene como una oración afirmativa. Cuando la pregunta comienza con una partícula
interrogativa ("When"), ésta se mantiene. El verbo en pasado simple de la pregunta ("did you begin") se transforma en pasado perfecto en
estilo "indirecto".También deben cambiarse los pronombres ("you" por "they") y los posesivos ("your" por "their").
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